


Amendment to Problem Set 4 

The previous equation has been changed to 
be: 
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2. 
clear 
clc 

alfa=100; 

A=[exp(-alfa) 1 0; -1 exp(-alfa) -1; 1 -2 

exp(-alfa)]; 

%A=[1 exp(-alfa) 0; exp(-alfa) -1 -1; -2 1 

exp(-alfa)]; 

oA=A; 

B=[1; exp(-alfa); exp(-alfa)]; 

oB=B; 
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[mm,n]=size(A); 
A=[A B]; 
L=zeros(mm,n); 

for i=1:mm-1 

for j=i+1:mm 


m(j,i)=A(j,i)/A(i,i); 

L(j,i)=m(j,i); 

for k=i:n+1 


A(j,k)=A(j,k)-m(j,i)*A(i,k); 
end 

end 
end 
U=A(:,1:n); 
L=L+eye(mm,n); 
B=A(:,n+1); 

x=zeros(n,1); 
for j=mm:-1:1 

x(j)=(B(j)-A(j,j+1:n)*x(j+1:n))/A(j,j); 
end 
x 
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Ax B − = 0 The solutions are exactly correct. 
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Ax B − ≈ 0 Solutions are very good 
approximation. 
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Ax B − ≈ 0 Solutions are very good 
approximation 
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Ax B − ≈ 0 Solutions are very good 
approximation 
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Big errors exist. Without 

pivoting, it’s not stable now. 

4. 
clear 
clc 

alfa=40; 

%A=[1 exp(-alfa) 0; exp(-alfa) -1 -1; -2 1 

exp(-alfa)]; 

A=[exp(-alfa) 1 0; -1 exp(-alfa) -1; 1 -2 

exp(-alfa)]; %original one. 

oA=A; 

B=[1; exp(-alfa); exp(-alfa)]; 

oB=B; 


[mm,n]=size(A); 

A=[A B]; 

L=zeros(mm,n); 




for i=1:mm-1 


%pivoting begins from here. 

[Y I]=max(abs(A(i:mm,i))); 

temp_store1=A(I,:); 

temp_store2=B(I); 

A(I,:)=A(i,:); 

B(I)=B(i); 

A(i,:)=temp_store1; 

B(i)=temp_store2; 

%pivoting ends from here. 


for j=i+1:mm 

m(j,i)=A(j,i)/A(i,i); 

L(j,i)=m(j,i); 

for k=i:n+1 


A(j,k)=A(j,k)-m(j,i)*A(i,k); 
end 

end 
end 
U=A(:,1:n); 
L=L+eye(mm,n); 



x 

B=A(:,n+1); 


x=zeros(n,1); 
for j=mm:-1:1 

x(j)=(B(j)-A(j,j+1:n)*x(j+1:n))/A(j,j); 
end 

oB-oA*x 

5. switch x1  and x2


